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he had to return to

He started playing succer when he was 7.

D

WAIT 12 ORE, WL DDOREL T LOHEM 2B G L7
this is a difficult thing to teach
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teach 2 cities 3 bigger

Ken and Mari are students who study English very hard.
Tom and 1 are playing tennis now.

Japanese is spoken (by wus) in Japan.

I have ever seen pandas in Wakayama.

When did you buy a racket at the store?

Thesday 2 kitchen 3 moon
goes to school by bus
is the highest mountain

can swim very

TFHTE—a—R - HEXEERI—X

[A]
[B]

[(C]
[D]
(E]

(F]

1
1
3

D 2 D 3 A

was  (not) damaged 2 making

will pass  passed 4 haven't been " have never been
/" have not been

1C 2 A 3D 4 B
1B 2 A 3B 4D

1
2

OKfE /Ry b/ BEHAN @OKFFHLDO LW/ FELW,/BHLAN
@ the picnic area @ Family Picnic /~ A picnic /~ The picnic
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fi#25 The man feels happy to see the sign because

it is written in English and Japanese, so

he can wunderstand it.
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